

Maisonette in St Julian's



St Julian's, Sliema and St Julians Surroundings



€425,000

Reference No: 240041053-242

 Total Rooms: 5

 Floor Area (m²) : 121

 Bathrooms: 2

 Bedrooms: 2

Maisonette - For Sale - St Julian's

St Julian's - A bright and modern ground floor maisonette being sold fully furnished and ready to move into. The property has an internal area of approximately 108 sqm, an external area of 13 sqm, and a total area of about 121 sqm. The property is entered into a spacious open-plan kitchen, dining, and living area filled with natural light. A short corridor leads to the sleeping quarters, consisting of a main bedroom with ensuite, a second bedroom, and a main bathroom. At the rear of the property there is a back yard, providing outdoor space and natural light.

Features

- ✓ Ceramic Floor
- ✓ Water Utility
- ✓ Gypsum Plastering
- ✓ A/C
- ✓ Double Glazed
- ✓ En Suite
- ✓ Electricity Utility
- ✓ PVC Piping
- ✓ Skirting
- ✓ Terrace

Rooms

- ✓ Kitchen/Living/Dining : 10 x 4 m (40 m2)
- ✓ Bathroom : 2.49 x 1.6 m (3.98 m2)
- ✓ Double Bedroom : 4.13 x 3 m (12.39 m2)
- ✓ Bathroom Ensuite : 2.62 x 0.94 m (2.46 m2)
- ✓ Double Bedroom : 4.35 x 2.82 m (12.27 m2)
- ✓ Open Space : 5.7 x 2.3 m (13.11 m2)

Gallery







Alicia Borg

RE/MAX Park Estates - St Paul's Bay

M: 79023608

E: alicia@remax.com.mt

T: 21579747

RE/MAX Park Estates - St Paul's Bay

Park Estates Ltd, Mosta Road, St Paul's Bay, Malta